
 

 

YDS DENEMELERİ 
 
1.)  As he grew older, ----. 

 
A) he grew less active and less dogmatic 
B) he’ll start to interfere less with the affairs of the 
company 
C) he’s not grown any wiser 
D) he now seems determined to assert his authority 
E) the more he plays the role of the big 
businessman 
 
2.) Although Russia’s space technology is 
simpler than that of NASA in the US, ----. 

 
A) the Shuttle is grounded for repairs 
B) it stil manages to work reliably 
C) subsequent flights ran smoothly 
D) more than one flight had ended in disaster 
E) another one has flown more than 100 missions 
 
3.) ---- as long as the economy was good and the 
US remained strong abroad. 

 
A) The American people seem to have ignored 
Clinton’s weaknesses in character during his 
presidency 
B) Clinton became the second president in 
American history to be impeached 
C) Clinton made history by becoming the first US 
president to testify in front of a grand jury 
D) In the second year of his presidency, Clinton 
faced persistent troubles on the domestic front 
E) Clinton’s overall popularity among Americans 
remained high 
 
4.) ---- that the Celts once dominated the breadth 
of Europe from the Black Sea to the Atlantic. 

 
A) They will consult little known historians 
B) Some archaeological clues had been discovered 
C) The whole question may have sparked an 
academic debate 
D) Most of us are unaware of the fact 
E) Most historians will have denied 
 
5.) ---- since the break-up of the Soviet Union. 

 
A) Millions of Ukrainians have gone abroad in 
search of a living 
B) Ukrainian migrants often took on menial jobs 
C) Many Ukrainian women had been tempted 
overseas by promises of glamorous careers 
D) There were Ukrainian immigrants in Western 
Europe working on farms 
E) From time to time Ukraine felt threatened 
politically 
 
 
 
 
 
 
 
 
 
 

 
 
 
6.) ---- where you can read a book or meet with 
friends. 

 
A) Security at the new art museum is provided by 
young artists 
B) In Paris’ new contemporary art space, the Palais 
de Tokyo, there is a salon 
C) The new contemporary museum is being built for 
the French collector Francois Pinault 
D) None of the French contemporary artists enjoys 
international prominence 
E) France never paid much attention to its own 
contemporary artists, beginning with the 19th- 
century impressionists 
 
7.)  The UN insists ----. 

 
A) even though China’s economic growth must 
have had a perverse effect on democratization 
B) because China had underinvested in crucial 
social services, especially education and public 
health 
C) that China is under an unconditional obligation to 
prohibit torture and ill-treatment 
D) as Korea’s political system is more likely to 
experience decay than democracy 
E) since civil wars have devastated African 
economies, leaving millions dead and millions 
more displaced 
 
8.) The European Central Bank can’t raise rates -
---. 

 
A) just as they would have benefited Europe’s 
largest economies 
B) because the Eurozone’s two largest economies, 
France and Germany, need lower interest rates to 
spur growth 
C) since the European countries were particularly 
scared of an approaching crash 
D) while, in Spain, interest rates on mortgages were 
almost zero 
E) so long as real estate in Ireland and Spain had 
been overvalued by 15 and 13 per cent 
respectively 
 
9.) ----, Afghanistan is still a country on edge. 

 
A) As the UN Security Council passed two 
resolutions in 1999 and 2000, demanding the 
Taliban cease their support for terrorism 
B) Unless President Hamid Karzai had an army of 
20,000 
C) Since 50 per cent of voters braved threats of 
insurgent attacks to vote in the September 
parliamentary elections 
D) Ever since the Taliban seized control of Kabul in 
September 1996 
E) Four years after the US and its allies ousted the 
Taliban from power 
 
 
 



 

 

10.) ----, he was well-read in both Latin and 
Greek, and excelled in swimming and boxing. 

 
A) When Lord Byron entered Cambridge at the age 
of 17 
B) However eager Lord Byron may have been to 
fight for the oppressed 
C) Since Lord Byron had left England in 1816, 
never to return 
D) Because, to his contemporaries, Lord Byron 
seemed more a colourful and scandalous 
personality than he was a poet 
E) As Lord Byron was a fiery rebel, an idealist and a 
conventional aristocrat 
 
11.) The aid package offered by the G8 may be 
wasted ----. 
 

A) so the G8 summit in 2005 promised 100 per cent 
debt relief to an initial group of 14 countries 
B) if the rich world’s governments made expansive 
promises about fostering development in Africa 
C) although it had not brought about a significant 
transfer of resources 
D) unless there are improvements in the 
management of public spending in sub-Saharan 
Africa 
E) but most aid is now conditional on good 
governance and structural reform in sub- 
Saharan Africa 
 
12.) Market research worldwide shows that 
football has attracted millions in some countries 
----. 

 
A) that there is also a desire for football in China 
and Japan 
B) where until a few years ago people were not 
interested in it 
C) which football is starting to compete with 
baseball in the USA 
D) who will be able to enjoy a fascinating battle in 
Europe for the Champions’ League 
E) unless football enters people’s homes through 
different media, but above all through television 
 
13.)  Until fairly recently, management could 
have bought peace with generous increases in 
pay, ----. 

 
A) but that is no longer an easy option 
B) since that was not to be recommended 
C) however ambiguous this had seemed 
D) as long as the profits would have remained 
steady 
E) unless fringe benefits were reduced 
 
14.) The most stunning recent museums, ----, are 
art objects themselves. 

A) why they were designed by a Japanese architect 
B) of which the one in Bilbao must be the finest 
C) as the Pritzker is architecture’s biggest prize 
D) since there were smooth glass and aluminium 
panels 
E) since space and proportion get flawless 
Treatment 
 

15.) Why should astronauts be sent into space --
--? 

 
A) so that life on earth will have been improved 
B) but the costs involved were especially horrific  
C) even if it were no longer dangerous 
D) as if no harm would have come of it 
E) if there is nothing meaningful for them to do there 
 
16.) No one event, ----, can reorder politics in a 
country as populous as the US. 

 
A) as if there had never been a cold war 
B) whichever appears the more dangerous 
C) however shocking it may be 
D) even if the assassination attempt had succeeded 
E) since the impact was felt in far-off places 
 
17.) There is a museum in the centre of Bristol ---
-. 
 

A) as one wants to spend a pleasant morning there 
B) that there are over 150 animal species 
C) as some of the strangest animals and plants on 
earth are to be found there 
D) so one could learn more about the natural world 
E) which is home to a living rainforest 
 
18.) ---- who built the world’s first business 
computer. 

 
A) Everyone knows 
B) It wasn’t to be expected 
C) It came as a surprise 
D) The question was unreasonable 
E) We took it for granted 
 
19.) Since he ignores certain fundamental facts 
about the past century, ----. 

 
A) there will be many different kinds of authoritarian 
leaders 
B) the conclusions had been unreliable 
C) good and evil alike have to be judged 
D) he presents a distorted picture of reality 
E) someone should, nevertheless, still be blamed 
for the unjustifiable deaths 
 
20.) Although conventional IQ tests are good 
predictors of college grades, ----. 

 
A) there are actually very few really exceptional 
individuals 
B) they are still the best single predictor of overall 
success 
C) they are less valid for predicting later job 
success 
D) some weaker students have become charismatic 
leaders 
E) brain damage does not necessarily impair 
certain types of intelligence 
 
 
 
 
 



 

 

21.) Because unemployment is rising and wages 
are falling, ----. 

 
A) the government would soon be out-of-favour 
B) Americans are naturally worried about the state 
of the economy 
C) the state of panic was regarded as unfounded 
D) no one could lose on the stock market 
E) it would have been a good time to change your 
Car 
 
22.) ---- that it produces national cohesion in the 
target countries. 

 
A) The single most important effect of terrorism is 
B) The bombing of resorts is a recent development 
C) In a globalized world small groups of people can 
cause big trouble 
D) Terrorists are at an inherent disadvantage 
E) Suicide-bomb attacks against ordinary citizens 
followed 
 
23.) Whatever Luhrmann’s New York critics may 
think of his new production of La Bohème, ----. 

 
A) people had waited in long queues for last-minute 
cancellations 
B) they claimed to have pursued creative freedom 
C) the beautiful side of life will have been 
expressed with beautiful music 
D) he has certainly breathed new life into this opera 
E) opera used to be characterized by unnatural, 
alienating conventions 
 
24.) ---- before he became a film-maker. 

 
A) The director of the Titanic now plans to make a 
film of the sinking of the Bismarck 
B) He is best known as the director of the film 
Titanic 
C) The director of the film Titanic was a scuba diver 
and wreck diver 
D) The film’s director has always been fascinated by 
wrecks 
E) He is interested in why the Titanic sank 
 
25.) ----, but he had a reputation for blurring the 
line between fact and fiction. 

 
A) In the early twentieth century, some Americans 
were still hunting whales much as they had in 
Herman Melville’s day 
B) For “Moby-Dick”, Herman Melville drew on 
scientific, historical, and journalistic accounts of 
whales 
C) Once a whale washed ashore, it was bound to 
end up as someone’s property 
D) Whales entered early American law through the 
question of who owned them when 
E) There is no shortage of whaling histories for a 
Melville aficionado to turn to 

 

 

 

CEVAP ANAHTARI 

  1. A  

  2. B  

  3. E  

  4. D  

  5. A  

  6. B 

   7. C 

  8. B  

  9. E  

10. A  

11. D  

12. B 

13. A  

14. E  

15. E  

16. C  

17. E  

18. A  

19. D 

20. C  

21. B  

22. A  

23. D  

24. C  

25. B 


